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Note : Answer any five questions. All questions carry
equal marks.

1. T&H HH &l TOUNUN TS 399 fafeuw| wd

% TWiHa we fE3 s e sifsa|

Write the concept and objectives of a firm.
Explain the ownership and control of the firm.

2. AHhE JeR qY TNl YAkg o g yidquied
Arenfier TR & fggidi wt Sare
HIFSTT |
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(2)

Explain the theories of industrial localization
propounded by Alfred Weber and Sergeant
Florence.

3. YRd % 1956 qAAT 1991 i Mwifirer Hifqa
H JUE HIfW | FdEd fRg dleh 9 A
fifqei % SR ¥RdE SER H gfg T
faemg o1 3Tva ga?

Describe the Industrial Policy of 1956 and
1991 of India. How the Indian Industries have
been  experienced their = growth  and
development through these policies ?

4. Trafafes = dfya feufer fafew
(a) SERIHT
(b) Tsirenzon
(0) &t siEnfes Hefg
(d) wEwor T
Write short notes on the following :
(a) Liberalisation
(b) Privatization

(c) Regional Industrial Growth
(d) Pollution Control
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(3)

5. 3o Tlo oo 3o AT 3o Tho Hlo 3Eo
g0 foq wae yffer 1 v wifSw)
Describe about the role of funds by IDBI and
IFCL

6. ANG-oH foweruor wE g o7HAM oI Wi
A IS |

Explain the Cost-Benefit Analysis and Net
Present Value.

7. IOHM H YA SE 3 TSR o A&
# gom fear ¥— w9 wifsud

Check whether the Indian Industries have
created the employment opportunities at
present.

8. WRd § 9¥ JNIR YUR TH HSIGH ohl THE
W A foOR Yehe HifST |

Give your opinions on the labour market

reforms and wage problems in India.

9. WE-3¥M WA HUM JAE  H  GXAM
greel w1 Nk #ifST Td STEREw
Y SIS |
Narrate the current problems of Iron and Steel

and Cotton Industries and give the remedial
solutions.
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(4)

10. @ w6 FR AN & fowm faed g
39 ufgs § fae W fa=R yehe ST

Write the growth of small scale and cottage
industries. What is the future prospect of these
Industries ?
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